PRODIRECTIONAL

5 Inch MD Gamma Ray Log

(Scale: 5":100' (10"))

Company: Tapstone Energy
Well: Kennedy 14-34-9 #1H
Field: Hibbord

Well ID: 15-077-22162-01-00
Job Number: LKS6120015

Location: Sec.14 Twp. 34 S. R.9W
Operator 1: J. Treille
Operator 2: S. Winkels

Comment 1: LAT: 37°4'49.28 N
Comment 2: LONG: 98°16' 0.53 W

Comment 3: Y: 150718.00 / X: 2068030.40
Comment 4: Mud Density ( Ib/bbl ) 8.4 / Funnel Viscosity (sec/qt) 27
Comment 5: Max Temp (DegF) 158° (NAD 1927) Gamma Ray in Reference to Elev. KB (Kansas South)

State: KS

County: Harper Co.

Country: US

Elev KB: 1,287'+22'=1,309'

Elev DF: 22'
Elev GL: 1,287"
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Hole Data Casing Record

Size From To Size From To
12 1/4" 0' 838" 95/8" 0' 838
8 3/4" 838 5,079 7" 838" 5,077
61/8" 5,079 9,020'

Tool Run Data Run #1 Run #2 Run #3 Run #4 Run #5

Tool S/N 1711 1962 1505 1962

Cal Factor 4.56 2.81 2.81 2.81

Gamma Offset 44' 40' 39' 41

Start Depth 3,500’ 5,077 6,971' 8,145’

Start Date 12/19/2015 12/23/2015 12/26/2015 12/29/2015

Start Time 17:30 01:00 21:20 03:45

End Depth 5,077 6,971' 8,145’ 9,020'

End Date 12/22/2015 12/26/2015 12/28/2015 12/30/2015

End Time 11:00 13:20 17:20 10:42
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#137 MD:7556.0 TVD:4600.3 1:88.8 A:357.1 VS:3264.8

#138 MD:7587.0 TVD:4601.0 1:88.9 A:357.1 VS:3295.8




7620

7630

7640

7650

7660

N

7670

N
N
\J/‘

7680

7690

7700

// ™N ~—

7710

TN ./'/

7720

7730

/N

7740

7750

7760

//”\

7770

M

7780

7790

7800

7810

7820

AN
N

7830

#139 MD:7617.0 TVD:4601.5 1:89.1 A:357.0 VS:3325.8

#140 MD:7647.0 TVD:4601.9 1:89.4 A:357.1 VS:3355.8

#141 MD:7678.0 TVD:4602.2 1:89.3 A:356.9 VS:3386.8

#142 MD:7710.0 TVD:4602.5 1:89.6 A:356.6 VS:3418.8

#143 MD:7741.0 TVD:4602.7 1:89.7 A:356.4 VS:3449.8

#144 MD:7773.0 TVD:4603.0 1:89.4 A:356.5 VS:3481.8

#145 MD:7805.0 TVD:4603.7 1:88.0 A:356.3 VS:3513.8
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#146 MD:7836.0 TVD:4604.7 1:88.1 A:356.2 VS:3544.7

#147 MD:7868.0 TVD:4605.8 1:88.0 A:356.1 VS:3576.7

#148 MD:7899.0 TVD:4606.8 1:88.3 A:356.1 VS:3607.7

#149 MD:7931.0 TVD:4607.9 1:88.0 A:355.9 VS:3639.7

#150 MD:7963.0 TVD:4608.9 1:88.2 A:355.8 VS:3671.7

#151 MD:7994.0 TVD:4609.9 1:88.3 A:356.1 VS:3702.6

#152 MD:8026.0 TVD:4610.6 1:89.0 A:355.9 VS:3734.6
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#153 MD:8057.0 TVD:4611.0 1:89.6 A:356.1 VS:3765.6

#154 MD:8087.0 TVD:4611.2 1:89.8 A:356.0 VS:3795.6

#155 MD:8119.0 TVD:4611.2 1:90.2 A:356.1 VS:3827.6

#156 MD:8150.0 TVD:4611.1 1:90.2 A:355.8 VS:3858.6

#157 MD:8182.0 TVD:4611.1 1:89.7 A:356.3 VS:3890.6

#158 MD:8214.0 TVD:4611.3 1:89.4 A:356.6 VS:3922.6

#159 MD:8245.0 TVD:4611.7 1:89.2 A:356.6 VS:3953.6
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#160 MD:8277.0 TVD:4612.2 1:89.0 A:356.9 VS:3985.6

#161 MD:8308.0 TVD:4612.7 1:89.2 A:357.0 VS:4016.6

#162 MD:8340.0 TVD:4613.0 1:89.6 A:357.5 VS:4048.6

#163 MD:8371.0 TVD:4613.1 1:90.2 A:358.1 VS:4079.6

#164 MD:8403.0 TVD:4612.8 1:90.8 A:357.7 VS:4111.6

#165 MD:8434.0 TVD:4612.4 1:90.6 A:357.5 VS:4142.6

#166 MD:8465.0 TVD:4612.1 1:90.5 A:357.3 VS:4173.6
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#167 MD:8497.0 TVD:4611.9 1:90.5 A:357.5 VS:4205.6

#168 MD:8528.0 TVD:4611.7 1:90.0 A:357.6 VS:4236.6

#169 MD:8560.0 TVD:4611.8 1:89.8 A:357.7 VS:4268.6

#170 MD:8592.0 TVD:4611.9 1:89.8 A:358.6 VS:4300.6

#171 MD:8623.0 TVD:4611.9 1:90.2 A:358.8 VS:4331.5

#172 MD:8655.0 TVD:4611.9 1:89.8 A:358.2 VS:4363.5

#173 MD:8686.0 TVD:4612.1 1:89.6 A:358.7 VS:4394.5
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#174 MD:8718.0 TVD:4612.4 1:89.3 A:358.6 VS:4426.5

#175 MD:8749.0 TVD:4612.7 1:89.5 A:358.7 VS:4457.5

#176 MD:8781.0 TVD:4612.9 1:89.8 A:358.9 VS:4489.4

#177 MD:8813.0 TVD:4612.9 1:90.1 A:359.3 VS:4521.4

#178 MD:8844.0 TVD:4612.8 1:90.4 A:359.4 VS:4552.4

#179 MD:8875.0 TVD:4612.7 1:90.0 A:359.8 VS:4583.3

#180 MD:8907.0 TVD:4612.8 1:89.5 A:359.7 VS:4615.3




#181 MD:8938.0 TVD:4613.1 1:89.4 A:0.1 VS:4646.2

#182 MD:8967.0 TVD:4613.5 1:89.2 A:0.3 VS:4675.2
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